A3k GETTY IMAGES

38 16¥~22¢

oFA 5~74

Q2= LI HIQUIM
ECENTE

= A=N?

/

7 e el = HES FH 77124
O 7599 2ole LHROIM =2 7HXIet U= Y= 22 Yalizs HE SL=s
ApA10] Wol 7h= Zh e L2 EHE H7Ash= H7Ast= &S <lDlettt SEUACRM UTRE
aFAS = Y7} T [UpRe]] gs Kol 2 =2 A 5t LkRel SEof ULl R 4= QUL
7HE A1, 11 Sd)S uha, 7HRIE EEt = &0l 2N Yoot He 248 2% URXE, 221 3=
A A2L ey ek ZAUCE(ORSA 59 FX) HAg = At 2219 YRS YA oIt
wshe} (OFA 5:4) ofLtemAlE 227t 2|2t BH 48= Matste RElE HEH 2219 S
o] u]gol A 2913} oFES 71Tl 229 oS Yat=0l= FRO| gL+ At
19 20 TE AL ol ¥ =y

=3t OF—LH 5:15~18,

BN
AR, o] Mg L
3421o] B olop7] 1 o]
oJolg g7 girt. of w8
shbgAH B4 A5
S0l olshiItk APzt
770 A, )3

AYLRO| HIRE 2 M| K= AT}
A0 7|23t HOIAC, OFFE OfH
OIR0IN T2 XP7| 7IZ2 4
BE2S T2 HRIXS Lo

OIHE L Y2ok=7t?

5| X
Jkluﬂ'l' 2020 3€S 37



